Kuwait University Math 102 9 Nov, 2006
Dept of Math & Comp Sci First Midterm Duration: 90 min

Calculators, pagers and mobile telephones are not allowed.
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. (243 pts) Let

a) Show that f has an inverse.
b) Find f~! and state its domain.

(
(

2. (2 pts) Find the exact value of  sin (cos™ (2)).
:

3. (2 pts each) Find o/ if
(a)
_ {(Inz)(tan™ z)
Y=V /15
(b)

2°sin~" (€*) + In (cosh y) = zy

4. (2 pts) Find the limit
. €083z — cos vz
lim
z=0 12

5. (3 pts) Given that z = In (cscf + cot 8), show that

cscf = coshz
6. (3 pts each) Evaluate:
(a)
/ sinh z cosh z
2 +ginh® z
(b)

2
T
dr
f 1-z6

2.‘!
f1+4==dz
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